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Figure A1. The spatial distribution of TOA SW cloud forcing in (a) observation, (b) CNTL, (¢c) EXP, (d) CNTL minus observation, (¢) EXP

minus observation.
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Precipitation rate 3.05 mm/day
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Precipitation rate rmse = 1.15 mm/day
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Precipitation rate 2.98
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Figure A2. The spatial distribution of precipitation rate in (a) observation, (b) CNTL, (¢c) EXP, (d) CNTL minus observation, (¢) EXP minus

observation.



(@) NCEP
850 mb specific humidity mean = 5.74 9/kg
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850 mb specific humidity mean = 6.50 g/kg 850 mb specific humidity mean = 6.57
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Figure A3. The spatial distribution of relative humidity at 850hPa in (a) observation, (b) CNTL, (c¢) EXP, (d) CNTL minus observation, (e)

EXP minus observation.
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(d) CNTL - NCEP

850 mb Temp rmse = 2.54 K
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Figure A4. The spatial distribution of temperature at 850hPa in (a) observation, (b) CNTL, (c) EXP, (d) CNTL minus observation, (¢) EXP

minus observation.
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